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1. The drug illustrated below:
OH a- Active against Salmonella typhi.
b- Converted to succinate prodrug 1o mask birter taste.

3 rm\(t ¢~ Nucleic acid synthesis inhibitor.

: c d- Two of the above

o Ly
3. The drug ilustrated below is:
. ”?_ﬂ a- Oxazolidinone that inhibits DNA synthesis.

i Lo AP b- Antibiotic inhibils protein synthesis

LA s L"k"“ﬂ};ﬂ" ¢- Is a prodrug active against MRSA
"o 4. Active antibacterial agents inhibits folic acid synthesis
& The drug illustrated below: : ‘ .
a- Has greater stability toward acid than penicillin G due to the NHz
b- Has greater stability toward f-lactamase than penicillin G due lower

] " #
w ring strain. _
n]i}r c- Acetyloxy group at C;is important for f-lactamase stability

d-All of the above

S The drug illustrated below: o icitlanic acid sulfone

b- I potent imeversible cell wall inhibitor

c-Is po;mtﬁ-hm.mlu inhibitor : L
d- Has broad G-ve and G +ve antibacterial activity

a- Spectinomyein
b- Macrolide g
¢~ Coumarin antibiotic

d- Ketolide

T- Regarding the sulfanilamide structure, w‘lk}!b;:l;:h: following is set true?
A :::‘h analogue to PABA that inbibits dihydrofolate reductase
b- N* should be unsubstituted 5
¢- The addition of EWG on N’ will enhance water solubility
& Major metabolite is N'-acetylation




following Is correct:
8- Which of the a- Is a f-lactamase resistance with potential alcohg] I

';l b- Is semisynthetic orally active
¢- Is a prodrug
d- low activity on Gram (=)
g- Two of the above

Which of the following is incorrect: .
" L - a- Is a bacteriostatic

b- Inhibits protein synthesis

c- Broad spectrum with nenh:munmhy
d- Poor absorption

e- All of the above are correct

18- Regarding the structure in Q9, which of the following is true?
a- 3-OH group is important for activity.
b- N'-ethyl group would produce a drug with better stability towards acetyltransfers,
c- The 6'-NH: can be replaced with OH group Lo enhance the antibacterial activity
d- The 2-NH; could be replaced with OH to reduce toxicity
¢ Two of the above

11- The drug illustraied below:
> a- Is 3™ generation cephalosporin
b- Active against MRSA
"mfl’?\,gﬂ €- Active against G{+) and G (-) but not MRSA
PR d- Good water solubility

e- Two of the above
- Based on the following structures, answer questions 12-16

D
* Which of the followi c
u'ﬂﬂiljh'l:ftivt..,._,...l_f"“
H']“SMEF i
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16-Prodrug....... o
17+ The drug ilustrateg bejgy,
5 ] "H““ﬂ'hﬂlm I : : i
5 = a,‘D b Civen with ﬂ-tmmhib:mr ] i
™ i 3 "“‘"““Fhﬂﬁfﬂm G (-) but not MRSA
OH 9- Synthetic :

€ Two of the above v
-3,
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2 d-Two of the above

19 Which of the Inﬂ;ﬂug is incorrect?
3 Drug C is oral, P-lactamase resistance penicillin wi )
b- Drug D is amphoteric. penicillin with lower activity than PenG
Drug D inhibits nucleic acid synthesis
4- Drug A is f-lactamase inhibitor
e- Two of the above

3%- Which is ingorrect regarding compound (B)?
3- Is ketolide effective against macrolide-resistant bacteria
b- It has activity against G —ve similar 10 erythromycin.
¢ |s acid-unstable and therefore can not be taken orally
d- Two of the above

21- Drug (A) Is......
a- Monobactam b- Carbapenam
c- Oxacephem d- Oapenam

11. Which Is correct regarding compound B)T
1~ To cancel nicotinic effects we exchange the pyridine ring with aniline )
b To cance! the effect on visual accommodation we exchange the imidazole ring

with triazole vl .
¢- To cancel nicotinic effects We exchange the pyridine ring with triazole

idi i i ition 10,11
d- Oxazolidinone ring was :ntroduced at position 10,11
¢- To cancel nicotinic effects wWe replace the imidazole ring with aniline

Which Is incorpect {he drug below:
i mak 2 nni“dl:-ils ;_-,'lﬁl—‘ inhibitor _
b- |s naphthyT jdine derivative
F -
™ . Active sgams G(+) and G (-)
A d- Nonc
- Which is [peorrect regarding the Iro below:

gyrase inhibitof
:— :ss given in 1:5 ratio in combination with sulfamethoxazole
c- 15 g}-nth:li: antibacterial agent

~ d-None




. Rased on the following structures, answer questions 1818
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;: ::m“m aminoglycosides effective against anaerobic bacier|y

< Is resistance to inactivation by AAC-1 and APH
d= Two of the above are comect

26~ Regarding drug (A), which of the following is true?
8- The sulfate group is essential for P-lactamse resistance
b The aminothiazole ring is good for G + ve activity
& The sulfate facilitate the attack ot the lactam ring by PBP (target)
d- Has broad spectrum antibacterial activity
e Two of the above

17- Which of the following statements is correct.. ...
a- Drug Cis amphoteric and inhibits DNA synthesis
b Drug A Hlihi!i transpeptidase enzyme while B is protein synthesis inhibiior
€ Drug € is basic and inhibits protein synthesis.
& Drug Ais semisynthetic orally inactive monobactam

30- Mention the qubtab
structural Hdlﬂurﬁ:ﬁt:?::“t 'I;l'hﬂl'ﬂtl of activity and suggest #

Propertics,
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Bl-"’d on the struciure below, answer questlons 31-32:

qw—
>

f
- Draw the structure of B
i:, Eiplain the advaniage of drug A on B

1 A) Correct the general structure shown
B) Suggest suitable cephalosporin drug with:
parenteral cephalosporanic acid derivative

Pareateral with metabolic stable, acid unstable good leaving group

- Parenteral 3" gen, P-lactamase stability, hepatic clearance,

Orally active

Excellent plactamase stability, high antipscudomona!

COOH

long half life



f bioprecursor,
icillina: A) write the name o
34-Regarding Pen

B) Semisynthetic modification of penicillin,

C) Complete the equation below:

——== Penilloic acid

as- rding (C) in Q2528 4:
A) ER::;?:in its l:s:ﬁmhi!ity i

B) Modify the structure to:
-A bunrsmunfi:id-unmhlc derivative,

= More potent, Jess polar derivative, active against tetracycline resistance bacteria



write the metabolism of the Hlnti.. '“
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